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Items

1. Personal taxes

2, Wage and Salaries
3. Undistributed Profit

4. Rent

(8

5. Corporation tax
&, Private Income

7. Interest

A Met Indirecl Lax
4. Net factor income to abroad

10. Profit

11. Social Security contributions by employers _ﬁ.

Problem 6. Calcilate gross domestic product at mar

at factor cost (GDP ) and net national product at factor cost (NNP ) fr > following data:
X _in Crore
o

(i) Private final consumption expendifure

(ii) Government’s final consumption expenditure
(iii) Subsidies
(iv) Gross domestic fixed capital formation

(v) Indirect taxes

(vi) Depreciation (i.e., Consumption of Fixed Capital)

(vii) Neft factor income from abroad
(viii) Net addition to stock
(ix) Net exports
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Problem 5. Calcy estic Product at Market Prices and Net National Product at
Factor Cost and Goss Domestic Product af Factor CosNfrom the following data:

T in Crore

(i) Net indirect taxes . ——_.___:3 38
M do (i)l Consumption of frved capital) 3 34

(iii) Net factor income from abrouad =) 3
\HT) Rent SN0 -
\&F Profirs 21250

# Interest 3 20

) Mixed Income of self-employed 120 /
1 ‘\jf) Wages and salaries — ] /
W ‘(y Employers’ contribution to social security sch ‘j 30 /
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